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SECONDTERMINAL FVALUATION 2009-20

Std: 1K CHEMISTRY Heare = 40
Time = 1 YsHours

Instractivns
s lirst 15 minutes is given s cool off tme. This tme is o be spent for
reading und understunding the guestions.
| » Answer the questions based on instrections. -
: w Answer the guestions according 1 score and time,

Answerany 4 questions from 1o 5. Each carries 1 Score. 4= 1=4)
I The scientist, known a5 “the father of Periodic table, i§ -—-rr—r——r il
{n

2. The catalystused in the industrial peepasation of ammenia iz --—

(Manganese diossde lron, Vanadium pentescide, Fhosphone acid)

T Whindizeosvared that the same negative partie]

s are formed, when electrie discharge

i passsert] throughisny s ina dischange (ol iy
(Micls Bobe, James Chadwick, L1 Thomaon, Ruthertord)
4. Which smong the tollowing is a molecule showing polar nature® [
(H, HEe N Oy
5 Which of the following is a compound showing basic nature? (1
(80, 00 MaO N
Answer any 4 gquestions from 6 to W Each carries 2 Scores, 4=2=8)
6. Magnesium ion (M) and Phosphate fon |]'U|" 1 eombine to form mugmesium
phirspleane.
a} ldentity the catien in mugmesiem phosphate, (i
Iy Wit the chemical formula of magnesium phosplarc. 1
7. alHowmany H' iore are libersted when one molecule of H PO | is completely iomised™?
n
b1 Which is the ion lormed when 1 ien combines with water moleeule? ()

o Anneomplete portion of periedic thle is given. 1 Svmbols are not rcal)
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) Which ameng the miven elemenis hos the highest non-meiahic churacier? [
b Why sare the nememetals called electro negative clemens? 1

9. Analysethe fallowing fgure and answer the questions,

[Fadenss
) o
) I which test tube is the rate of reastion fuster? i1
1) Which is the factor that influenced the rate of chemical reaction here? i

10y The equation of a chemical reaction is given.

My 0 F, - Mgl

(Hine Electronic configuration of Mg =2 8.2 F=2.7)
a) Which atem loses clectron in this reaction? 11
by Which nlom sets us oxidising sgent here? il
Answer any 4 guestions Mrom 11 6o 15, Fach carries 3 Seores. {4=3=12)

11, The pH value of same solutions are given in the box below,

solution | pHvalue

A |7

B | 0.7

C 54

] | 1
) Which solution amuang thess his basic nature? in
B Addition of which substance will increase the pH value of solution A7 il

{Axid. Buse, bl

<) What is the use of determining the pH value of soil before farming? il
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Watch the follewing suitably. N

a B C !
__Moblepgases Tlepnerts af greups 310 12 | Koo as rane carths
Larshanods | wenes ol 18 growg Ciines colpurad compoands |
Trarsition elements IK il s sepeate cow below Do pet ke part
thieperiods table chemieal reaciions |

7ine pigces. zine powder.dilute [IC] amed st fubes are given

a1 Write the procedurs of an experiment 1o prove that the tate of o chemizal reaction
ipereases, il selid substances are used in powdered o i)

1y What is the reason for he inerense in the rele of o reaction if the solid substnes
arcnsed i powiened form? N}

The electronic configurstion of oxygen is 2. 6.

a) Oxyien usually shows the-velency 2. What is the roason? (1)
o1 lestrate the formistion of sodium exide using electron-dot dhageam, 12p

(1 lint: Elestrimie configumtiun of Mo = 2. 8. 1]
Acish rain capses many gnvironmental problems.
) Explain how acid ran is forimed. [
b Write any one evisonmental e caused by acid rain. in

Answer any 4 questions from 16 1o 20 Fach earries 4 Seores. {4=4=18)

20ml of NaC1H is tken in a conical Dask and twa dyops of phenolphthalein ase
added, Then diluze HO is added drop by drop. continugusly shaking the beaker

up ¥alH solution is taened inio pink colour when phoenolphthalein iz added, Which

. natwre of the solution is indicated here? n
by As HICT is adebed, the imtengity of pink colour of salutiom decreases and finally

disnppearcs, Why? Explain. (21

£} Write the chemical squation of the resetion thal haz veewred here? il

Baohr atom models of some elements helonging 1o same 2I0Up #1e
ilustrazed here, Wi sec that the size of atorm incroases o Ining
from o 1o bostrom i the growp.

13 Hiovw doss the ionisation enci@y vary when we move down
i a groug? Give reason, 2}

by Ma P Clare ihe fhres clements belomging to same period.
Which of these has the ighest innisation energy?
Cive poazon. 12)

AESGHCh e



Equul armaownt of sccdium thiosulphate soluticns are tker in twe rest tubes and are
of them is heated. Then equal ameunts of dilute [TC are sdded to both 1eat 1k
a) Iin which test tube does the precipitace form Fster? ' i

b} Which is the substance precipitated here? i

e Whal i the reason for the increase in the refe of reaction here? Explain on the
hasis of Threshold encigy, [#3)

Soime isntopes of corbon are given in the box,
fc-1z c-13 €-14

2) Which nmong these isotopes is used for determining the age of fossils? (1)
b} The number of which partiele is diffesens in the various isotopes afan element? (1

© ) Wrile one nse each oM odine-131 and wranium-235, o

[ Mendeleey. Newlands, Dobersiner, ascley. Lavaisier

The names of some scientists refared g e classilicution of elemens are given in
the bo. Inentify the matching name for ench of the following.

a) Formed small groups of three elements showing similor properties. i1}

B} Clive serial numbers of the elements by X-ray diffraction cxperimen

¢ Classified the elements into metals @nd pon-menls. {1

dt When arranged the known elements in the ivereasing order of their atomic rss,
{ound that every gighth element is a repetition in propenizs of the firs i1
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